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HARYANA SSC MOCK TEST-4

How many meaningful English words can
be made from the letters AIPR, using each
letter only once in each word?

L

7= AIPR A THeq orf 0= v S=m = odd
. 99 vEF wE ¥ v wi UF 9w w8
=M e

[A] None (B] One %
[C) Twa (D) Three (A) F5 (B] =%
2.  Produce : Waste :: Contrast : 7 (C) % (D) ==
(A} Match (B] Correct 2. FAim . e o MR 0P
[C) D;EH.:IS-L' ) (D) Contradict ) (A) (B] T
3. What will come in place of the question 4=
mark (7] in the following question ? ic) = ID]_
3. 9 wE H w19 ) F wm W T e P
4.
5.
rest. 5. TEEEF T F oA 3 A R
[A] Curd (B] Butter 15:3* (B] ¥EEa
[C) Dil (D) Cheese A
N If P # ) means P is the brother of Q; P = Q) :‘:ﬁﬁ il ID;;?; -
means P is the wife of ) and P % ) means b L 50 L e Lot R P
F is the daughter of Q then which of the QF Wi § TP % QW A P, Q F A E. A
following means D is the uncle of A? i afFfrm s D AT IS TP
AMAWB=C+D [BlAxB+C%D (A A%BxC+D BJA=B+C%D
[ClA+C%B =D (D] None of these [ClA+C% B =D (D) v 4 % 7
7. Which of the following diagrams indicatea i iy
T Hﬂﬂﬂﬂhmﬁ THIE £l
the best relation between Sweets, Rasagulla L ﬁﬁr Fr-s " 3 o
and APFIE 2 A HEm wEY m e
Q
A @{} (B DDD {A) @D (Bl DO
@€ ©€  ®
l L1
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8. Statements : B wET:
meﬂbﬂﬂar;baﬁy zﬂgﬂqﬁ,t,
ts are hioc 5 P
Conclusions: bl i
I. Some ball are hockey. T
1. No ball is hockey. I o A
[A) Only Conclusion 1 follows. IL ¥ 5 o = i
(B} D_I'.l]].l' Conclusion I follows. (&) F99 FEEd 1 srgmo F 1
(€ St her e 1 kibown, (B} F991 FwY 11 s Fo £
(D) Meither [ nor 11 follows. i i i 2
9. Choose the correct alternative that will c)= ?IT I3 I SF7HT
continue the same pattern and replace the (D} = & e 1 & A 1 s e #
question mark in the given series. 9. mEt faFey F1 T FE oA G@UF 9= Fogn FOw
AZD B4F CBH ? g T 99 7 g € we = # S=em)
[A] D10G (B} G16H AZD B4F CBH ?
(C} D16J (D) D12G {A) D10G (B] Gl&H
10. From his house, Lokesh went 15 km to the (C) D1&T (D) D12G
T‘gﬁ;?‘hﬁf“ ]:; turned west F‘"d.m‘f“::_ 10— ®H W R, A 15 0 T e oam
it FmaE;mmi W‘“‘-m.- = 9% SN F i g5 § T 10 5 7 e )
10 km. In whichsE - T Wem T =0 A ¢ a5 0 T Ee
house? =i qf F} =g qgFe, T 10 fE 78w A
[A] East FR AW fEREmAE?
[C} Worth 4
11.
== T 12 9=
a9 AT W
12. (25 HEA
‘02 gaiEA
13:
! % : i O F A v
i o = P
14. A given below in a " IRE [; Rk
MEAT SEQUETCE. ] .
1. Poverty 2. Population 14, = fin m w= ¥ meEs FH F S0 F)
3. Death 4. Unemployment 1. TET 2. FEEE
5. Discase 3 4. TE=E
(A} 2,3,4,5, 1 (B] 3,4.2,5,1 5. S
{C) 2,4,.1,5 3 (D) 1,2,3,4,5 ”;:23451 (B) 3,4,2,5, 1
15. Radha and Saroj are ranked 10th and 16th o 2' 4‘ I' 5’ 3 D 1'2‘ 3‘ 4' 5
respectively in a class of 37 students. What € 2,4, 1,5, : o) 1, i
will be their ranks from the bottom in the | 15 37 3F1 F1 ¥ § wa 7w w3 #1 FH F9:
class P 103 7y 163 §) Fag § e FH A9 0 0 Em P
[A) 28th, 22nd |B] 2Tth, 21st (A) 28 33= (B] 279, 219
e E{DEB-U:, flﬂfr_h IDJI_"-.‘?Lh. _Eﬂndh " (C) 259, 209 (D) 279, 229
; ose the correct alternative that w ~ 3 2
16. =T f9FFs T T T W BWF T Fo@ T
continue the same pattern and replace the e = = Tﬂi
question mark in the given serics. AN sq‘:‘ﬂr " :
3,6, 14 3757 L e
[A] 115 {B) 130 1:’ i;g Ig] ﬁ'g
[C) 138 iDj 110 IC) i)
|
Mote :The Information Provided here is anly for Befersnce.It may wvary the original.




wwWww.rrbrecruitment.co.in

17. Find the largest number which leaves the | 17, =% a8 957 92 79 =7 =09 08, 120 74 153
?5:;: remainder when dividing 98, 120 and T e T o
[A] 3 iB] 5 (A) 3 (B} 5
[C) 10 ) 11 C) 10 oy 11
18. My age is 2 year less then twice thatof my | 18, M s M T StamFdps e nam
gister. If [ am 16 years old, how old is my 'ﬁlﬁﬂimtﬂrﬁ‘ﬂﬂ‘?'ﬂﬁ‘raﬁﬂﬁﬁﬁi??
sister?
[A] 3 years {B| 18 years {a) 3% iB) 18 i
[C) @ years (D) 27 years {C) 994 (D) 27 =4
19. F&Jldﬂampl:mhtr:at,lfF=?5m.R=2% 19, mmwﬁlmw;lp:tsmr
; K
p-:raaxmunﬂm,'l’—zjﬂ:m == o -'I,W=§Elﬂ‘l
[A) T 75 (B] T 50
(C) T100 (D] T 25 (A) 73 (B} T 50
20. A man is walking at a sapeed of 10 kmph. {C) T100 (D] T 25
After every km, he takes rest for 5 minutes. | 20, vF =@ 10 fafearn =1 99 9 9009 1) 79F
How much time will he take to cover a [
posulbisare ol i ;m_ﬂm.?iammmtmmm
[A] 50 minutes -~ W T FR AT A W w2
[C_l 30 minutes = = TA) 501RT= (B] 20 =
21. Hina school, 10 (€} 30 = (D) 1%z
%thn[th:n 3 oF Faan J, FER FO10% TR F
between the n e B S Fer
that school is .
[A) 3:2
[C}2:1
22. Ten men can
complete thi q I wFE o
| f =i S
Men are
[A) &
[C) 120
23. A man gave o 2 .
oF A = = i o oA St T A E
1
dauther, 3 of that to his sons and donated .
i aﬁﬁaﬂgﬂﬁimﬁmmgwmﬂ
= th of the whole perty. What part of N g 5
3 S M WaE R R FE MW ?
his property did he give ? -
1 19 A) 7= B 55
e hcta 20 20
Al 35 Bl 55
1 9
28 3 €15 D) 15
€ 1o D 1o 10 10 _ _
24, The marked price of a dining table is 7 6,000, | 24. = ¥1 %= #1 =97 79 1 6,000 #i 78 77T
It was sold to a customer for T 5,500. Find 7 5,500 % ¥ v Fzm F I @ FH
the rate of discount.
1
1 L
(A) 10% (B) B3% ()-10% A%
(C) 8% D] 9% C) 8% (D) 9%
|
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25. Find the principal that fetches T 410 as | 25.  wAMF |= 30 2 ™ § S99 =0E 1410
compound interest in two years at the rate T T
OF S pur axn, {A] T 4,000 (B] T 42,000
s B prbon s
; ’ 1 26. 599 9FH PAm Q F md g 15 T4 uh a9
26. Five years , the average age of P and Q
mmﬁ;fkmwrf_‘gtﬁp_qmdﬂ P, Q7 R 1 sfwa s/ 20 T4 #1 10 7 3%, R
now is 20 years. Afier ten years, the age of = =g # = -
R will he {A) 3574 (B] 40 =4
[A] 35 years (B] 40 years {C} 30 =4 (D) 50 =%
[C) 30 years (D) 50 years - .
27. The ratio of Sonu's age to Vijay's age is 4 : 5 s :‘%: ﬁ:ﬁ:ﬁig;:;g
and that of Sonu's age to Subodh's age is Hﬂaffﬂﬂﬁg“#ﬁﬁﬂmﬂ‘ﬂﬁﬁj
3 : 6. If the total of their ages is 69 years, :
then how old is Vijay ? {A) 24 54 {B) 20 =4
[A] 24 years [B] 20 years (C) 30 =4 (D) 25 =4
[C) 30 years (D 25 years 28, 27 O =« 8T « | B T 9 F ww F A
28. A metallic cuboid of dimensions ';-‘?r_'m * L —uF S W f I em T dewe i
Bem ® 1 cm is melteg : aﬂ_ﬂ i
is the difference z 3 o 3
schids 7 1A) 284 9 (B] zﬂ.ﬁfﬁfﬁ
[A] 284 cm® (C) 296 HH (D) 300 =
(C) 206 cm?® ﬁaﬂﬁmmzsmﬂmmtmm
29. A tap can fill a5ps msumﬁﬂmmmtumh#ﬂf
HOOL L. fagy il : : faq = A
both the tap
mmulltan:n‘ua]].r
[A] 20 minu
[C) 40 minw
30. A and B spdl T AT FENBA
investment & B 5 S Hh SiE
the porid of FEA T A T T T
of B.Bg i
The toEl
[A] T 24000 :
i, G | » < v 5 < e
University located at Ha.r_l.rsma ? iA) o (B)] S
(A] Hisar {B] Kaithal (C) v (D) Tz
[C) Jhajjar D) Gurgaon 32, 2006 =TI A R & afvEs = e =
32. What is the campaign theme of the 2016 (&) wF T & fiw wreg
International Women's Day?
[A] Pledge For Unity :-g: Wi #*mmm
[B) Pledge For Parity
[C} Pledge For Freedom |D) w=mm = A wy
{0} Pledge For Equality 33. ©iEm % FFg we F ST S o & ova §
33. Which city of Haryana is known as ‘City of = = e
Wegvers. 7 [A) TR (B] wAwER
[A] Mahendragarh (B Fatehabad €] F (D) i
[C) Karmal (D) Panipat PR Pt
34. Hkakabo Razi is a border tripoint between | 34-  FEER il 67 2 & 4 grfendz wm 87
which countries? {A) wrE-AE-
{A) India-Nepal-China |C) ®E-FER-He
[C) India-Bhutan-China () WrE- SRR
[C} India-Bangladesh-Myanmar (D] ®mE-==-Em
[} India-China-Myanmar
|
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35. Of which of the following kings’ was | 35. 9 9 o ffg 7= T7 m=ab9 #TFEm T weea
[IA'hem] ;{:BI?:]?JEE“F of Haryana the capital? FET W7
ani
[A) =R (B) TR
[%: gﬁlug-::?a Maurya i€) EE. i ID!_‘H‘H‘E i)
(D) Samrat Ashak 36. AR B WA o i o % sy
36. Who ameng the following works as the = 3 Fha 17
Chairman of a Zonal Council in India? A) waRHE
[A] Prime Minister B} m
E: E:I;: t?mié:ra:irman of Planning (5], Sem sy 5 ey
Commission (D) -t B T & e
(D] Chicf Ministcrs of State by Rotation | 37- F1amm = %8 wfr # Rfw vop w6 ) == it
37. The glory and strength of which of the cities At =9 m F oo e oW g A # w8
of Haryana was discussed in the book (A) = [{B] =f=gr=
writtenn by Chinese traveller Huen-Taang? {C) w=m= (D) F=em
Eg]' LT*‘:"”M :E]: ;ﬂﬁa’: s I8, A WA F O o 7
endrag uruksehe = L . ;
38. What was the ‘M 3 (B] wem
Mahajanpada? = [CyTEfeE (D) Fwi
[A] Viratnagar TEAm F fEe A ' w7
[C) Taxila ! (A) fomm (B) fag
39. In wlri::!1 distric i () T (D)
Lake' situated? HL, T vieT 3 T9m S mied WrEd 2006 T
[A] Hisar = . g .
[C) Sirsa
40. The inaugural Ken
2016 has beenlhs
[A] Kochi A § ) A 67
[C) Koz
41. Where is the
of Asia situat
) Ak g = =
(C) HiE .
42. Which of the| it 21
secondary = % w7 9=
(A] Ozone F ST F e % e A R
[C) Bulphur dlmd:ID] Carbon monoxide Ehﬁr-r E ‘qﬁ"lﬂ T WA & T A
43. Notonly to check the growth of population, i 7
but also to improve the male female ratio, ah
which of the following projects is being (A) iFﬂ'—!:f'ﬂ'— :
launched by the state government? (B) m-ﬁﬂﬁ-ﬂm
[A) Devi-Rupak-Project (C) wwe S
(B} Indra-Hareli-Saheli-Project (D] "mdEE
[C) Farlo project 44, WH F 7FE T
(O Bhagyodaya
44. The unit of work is ) ¥ B) e
[A] Joule (B] Newton )= st
(C) Watt (D) Dyne 45. - v T ﬂ' e AgfEE % S
45. Which project is being lsunched in Haryana TR T
for the welfare of poor girls? [A) =9t = -a e
(4] Apni Beti-Apna-Dhan (B} = - e
[B) Apni Beti-ParayaDhan ¥ 3
[C} Paraya Dhan-Paraie-Beti 1;' ;ﬂﬂr - 3
D) Indra-Saheli Project (D} -t e
|
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46.

17.

48,

49.

30.

5l

53.

53.

4.

an

36.

7.

Ramman is a religious festival and ritual
theatre of ____ state.

[A] Uttarkhand {B] Uttar Pradesh

[C) West Bengal (D) Madhya Pradesh
[.B. Kullkkarni, who passed away recently,
was & writer in which lanpuage?

[A] Telugu {B] Sanskrit

|C) Kannada (D) Marathi

At which of the pilgrimage centres was the
message of Geeta preached by Krishna to
Arjun ?

[A] At Markandey Tirth

[B) Jyotisar Sarover

[C) Brahm Sarovar

(D} Kaleshwar Tirth

which one of the following heaviest element
is of nickel group?
[A] Platinum

[C} Plodium

In which city of Hi
Mahabharat wri
[A] Hisar
[C) Yamuna-Ns _-
Tarun Kona is rels
[A] Badminton
[C} Basketball

situated at
[A] Rai (Sao
(B] Pataudi

(4] Apple
[C) Grape
According to 2001 ccnsus 1:|I' India, which
district of Haryana has the highest density?

[A] Panipat {B] Panchkula

[C} Rohtak (D) Faridabad

On which date, the National Girl Child Day
is celebrated in India?

[A)] April 21 (B] January 24

[C} March 23 (D) February 11
According to 2001 census which of the
following districts of Haryana has the lowest
density ?

[A] Sirsa {B] Karnal

[C) Jhajjar (D) Rewari

Pipavav Shipyard is located in which of the
following states of India?

[A) Maharashtra (B} Gujarat

[C) Karnataka (D) Goa

46.

47.

48.

49,

55.

56.

7.

T uF i SRR T e a A
(A) Fa0mE (B] T

(C) =¥ = T (D) T wEW

= i e e e o 9 e 1 TR
& TEF §7

{A) e (2] weFm

C) F= (D) Fo

Tl A 3= w0 i T owEw o % 9
= =0 79 W

[A) AebEy e (B) =Efier Er

|C) =9 FET (D) FretvaEn

T W # f § FR-w oF w9 A v 67
(A) FHem (B) F=TH

{C) =hfsTH (D) v

— witarm = f&n e ¥ A9F e Herand o

= & T e T

1A) frmm (B] wH
(C} T (D) T
mmmmumh

(B] "=
(D) =0EEE

(C) TiEdH
wwd § fFa fify F w5 5. am
7

(A) 21 =58 (B] 24 =30

{C) 23 7 (D) 11 w1

Wi 2001 = S0 % @9Em @fEm % fE
fa= F1 49 5 7

(A) e (B] T

(C) we (D) TSt

1 9 5 WA & fFe 1 7 dmE s o
T

(&) @
(C) Fi=F

(B} T=md
iD) =i
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58.

59.

B0.

i)

B2.

63,

Bd.

B3,

B,

B7.

BEa.

6o,

Santosh Yadav, the only woman in the
world, who climbed twice the Mt. Everest
belongs to which state?

[A] Punjab

(B} Haryana

[C) Himachal Pradesh

(O] Jammu Kashmir

Which of the following banks is the first
Indian bank to introduce Display Debit
cards?

[A] HDFC Bank [B] Axis Bank

[C) ICICI Bank (D) State Bank of India
Which place of Haryana was the political
as well as social working place of freedom
fighter Lala Lajpat Rai *

[A] Ambala [B] Jhajjar

IC) Jind (D Hisar

The phenomenon of genetic mutaion occurs
in =_
(4] DNA ==
[C) Choromoso
Into how many
divided?

[A] Three

[C) Six

On which dat
assembly was so

photography !
[A) formic aeid -
[C] citric acid T

Btmg fa!:rmua :

[A] lack of atmosphere

B} lack of cloud

[C) lack of oxygen and CO,

(D] None of these

From the point of view of population, what
ia the rank of Haryana in the country?

[A] 14th (B] 15th

[C) 16th (D) 18th

The aqueous solution of which among the
following acids is called Vinegar?

[A] Oxalic acid [B] Citric acid

[C) Acetic acid (D) Hydrochloric acid
Who was the founder of Haryana Vikas
Party?

[A] Chaudhary Dhevi Lal

(B} Chaudhary Bansi Lal

[C) Chaudhary Bhajan Lal

(O] All the above

10

39,

B0,

G7.

GE.

G0,

i AET 2 Tt v 9 AiEm €, = Ae vEne
w 3 ¢, {Fo =T 7 oo 27

(A) TarE (B] 9.

(C) Trar=m v (D) =9

5 9w fous =fas F) 9w Fo [ T
FTF AR

{A) S TRG. 9% (B) ofHEm 95

(C) smiail.amdam 9%

(D] =i == 95

Frarm = fFm v o S9N WA e A
T F TS+ TE-EY OTEE FE FE o

& Wi o w7
(&) sfE (B) wea
(C) =2 (D) femm
SHAT T F Y TR Red 3 7
“{A) DNA (B] RNA
= €T (D) e

Timarn = farE A fwf=a i oo 27
Ay = (B] 9m

(A) =gREE = T % |
(B} = =7 FH %
(C) wiF=m = Fds Tndans 1 9 F T

(D) = | T #

T T I A TEm F I I A T
{A) 143 (B] 153

C) 163 (D) 183

T = 4 fFa =G =9 1 fae 0 oam 6
(A) =iFmi=F @7 [B) OnEF aw

{C) wfafEF ==t (D) FremiEETE =
A (7 wE T T 87

(&) = 3= ==

(B) Jheit = A

c) Fet v

D) =8 & =

Haote
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T0. Who was the founder leader of ‘Muslim | 70. 'R 530’ F =epdF +7 ¥R &7
Fagirs? {A) B3 I (B) =7 {78
(A) Majnun Shah (B} Dadu Mian C} &9 (D) T =7 e
(C) Tipu (D) Chirag Ali Shah | 7 green o= A +# wrw 7
Tl. Where is the High Court of Harvana {A) e (B] Hm
functioning? '
s S - 72 :‘::T:Tﬁ‘ﬂ o ™ LD?I;HT‘@?& ER-rnkcrl
[C) Sirsa (D) Gurgaon %
72. At which among the following sites the g T g7
where first evidence of cultivation of cotton (A) FoFfee= (B) glmi'm
has been found? e
[A] Piklihal {B] Hathonora fc) = () e "
(C) Nal iD) Ghaligai T3, THEmM @R o H 39 F99 i F e L1
73. How many total number of scats are there {A) 73 (B] 80
in Haryanas Assembly? {C) 85 (D) 9O
(A] 75 (B] 80 74. % . fER TE 7w T D
[C) &5 : : 2
74. Plants receive their fA3 Ty (B} Feiife
[A] atmosphere {C) v (D) Mz
[C) light m&nmﬁﬁmm‘lﬂﬁaﬁgﬂam#?
75. Who appoints
State?
[A] President wi
[B) Governor v
Minister
[C) Governor
(D} None of FE § = oA
Th. Nuclear s
[A] Fermi
[C) Mewto
T7. Who apgpo
il e Fi g w17
[A] Chiefl Mi
[B) Governo i
[C) President on the recommendation of the (C) T F e T T
Governor
[D] Prime Minister on the recommendation (D) TAaE T fewfon W yaAe
of the Governor TA. WnA % aedd wEew A - e e §
78. The President of India can nominate - TETH F B §1 OFS 87
___members in Lok Sabha and _ members (A 12,2 (B] 2, 12
E]Rf'fzsabha' i3 14 €} 2, 10 (D) 10, 2
(C) 2, 10 (D) 10, 2 70. T U § AR F w0 ¥ He f5 w9
749. How many seats are allotted to the members T =R = e
of Rajva Sabha from Haryana State? (A) 5 (B] 8
[A] 3 iB) 8 ic) 10 D) 12
(). 50 ) 12 80, PO T R wEE % S W % T R W
80. How many secats are allotted to the lower
house of Parliament from Haryana State? Fi e T wm
(A) & (B] 10 A) B (B] 10
[C) 14 (o) 18 ) 14 (O] 18
|
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&l. 'SpwEn’ | oWm € Directions (. Nos. 91-92) Find out the part
i) o (B] =H4mg which contains error. If sentence is error free,
: 4 then your answer is (D)
.ICI : o) 91. The captain alongwith his team [A]f are
B2 ‘I W AE W practicing very hard (B)/ for the forthcoming
A} B) =7= match. {C)/ Mo error (O]
(C) =ftimd (D) = 5 FE =7 92. It was he (A} who can erunning (B]/ for
83. 'fuf ¥ o9 W TEEA S FEr BET e the classroom. {C)/No error (D)
o T T A R Directions (). Nos. 93-97) Choose themost
; suitable answer for the following questions.
(A} =m 23 et e i T 93. There are very gratefull ......... your
(B] ==H & and TEfed & =W kindness.
C) T9Et 3w F-F (4] and (B} except
(D) =94 = fav% =7 wem [C) otherwise (D) than
B4. freirEd 4§ mE = Fe-m 94. You.......... be made to do this.
(A) == (B == [A] would (B} sould
Al ! 3 ", := -{C)-might (v can
ok . - ':ﬁ: 5= prefer tea to water
85. T A TN E —— R ought to (B] can
s == [C} would (D) will
(€ by <..se-e. learn English and none shall stop
B6. 'FW O O T e
7. ... ¥ou kindness
88.
(C) 799 Eut B] Discourteous
B89. 'fAMR’ ¥= W W Ml {C) Backward (D) Orthodox
(A) Tm o+ 2w (B) Fm + =m 100. That is impossible.
{C) fm + =ntim (D) F3: + =n¥m Megative form of the sentence.
90, 9gEE-TyrE W= 9W F AT A fHEey 99 [A] That is nothing possible
wifam [B] That is no possible
(&) TE-wTER g [C)} That is never poasible
(B SwarFr- AR R (D} That is not possible
IC) SF=rTg-maTy
(D) -
|
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